
1-22. sorularda, boş bırakılan yerlere uygun düşen kelime ya da ifadeyi bulunuz.
1- 
Before setting out on our camping trip, we made sure the canoe was tied ... to the roof of the car, as we wanted to be certain that it wouldn't be blown off while we were driving along the motorway.
A) 
absolutely         
B) 
surely             
C) 
tensely             
D) 
securely              
E) 
hardly

2- 
Marge is quite a/an ....... person - she never considers how what she does will affect others.
A) 
careless             
B) 
thoughtless      
C) 
curious             
D) 
merciful             
E) 
harmful

3- 
When I returned from my holiday, I thought all of my plants were dying; however, a bit of water seemed to ...... them, and a day later, they looked as healthy as ever.
A) 
revive                 
B) 
renew              
C) 
repeat                
D) 
repair                  
E) 
recall

4- 
The film had such a complicated ...... that even after it had finished, nobody really understood what the story was about.
A) 
pattern               
B) 
cast                   
C) 
role                   
D) 
scheme                E) 
plot

5-
I don’t………… to get married because I like being a bachelor.


A)
risk 
B)
persist 


C)
intend 
D)
insist


E)
advise

6-
Do you really believe in the………… of the evil eye? 


A)
being 
B)
occurrence 


C)
existence 
D)
realism


E)
appearance

7-
I don't think you should be borrowing money from someone………..salary is so much lower than yours.

A) 
which

B) who

C) 
what

D) whose


E) 
that

8- 
We will have to repaint all the walls because I had wanted the colour to be………. darker........this.

A) 
rather/than 
B) 
quite/that

C) 
more /like
D) 
such/as

E) 
just as/as

9- 
..... being England's capital city, London is also the cultural centre of the country, with many theatres, museums and galleries.
A) 
In touch with      
B) 
For the sake of           C) 
In addition to    
D) 
In return for           E) 
In spite of 

10- 
I don't approve ....... what you did - in fact, I think you should be ashamed ....... yourself.
A) 
to/for                
B) 
of/of                            C) 
with/about          
D) 
in/with                 
E) 
about/from

11- 
Fran ...... the radio ...... to repair it but couldn't get it back together again.
A) 
took/apart       
B) 
turned/off                     C) 
picked/up         
D) 
blew/out              E) 
brought/up

12- 
She tried on ....... pairs of shoes but ....... of them fitted her. 
A) 
some/either       
B) 
both/no                         C) 
several/none 
D) 
all/neither            E) 
every/any

13- 
Helen and I enjoyed the film, but Paul didn't share ........ enthusiasm for ....... .
A) 
his/us        
B) 
himself/her                   C) 
our/it                  
D) 
its/me                  E) 
her/him

14- 
Kevin tried to repair the hair-drier yesterday, ....... .
A) 
and he didn't    
B) 
and neither did I        C) 
I did though       
D) 
and it wasn't        E) 
but he couldn't

15- 
Life is more difficult nowadays because things aren't ....... they used to be.
A) 
cheaper than       B) 
very cheap                 C) 
the cheapest      
D) 
so cheap as         E) 
cheap enough

16- 
The man ........ name the company is registered has gone bankrupt.
A) 
to which             
B) 
for whom                   C) 
that                
D) 
what                    E) 
in whose

17- 
Unfortunately, we didn't have very good seats for the concert. ......, we enjoyed it immensely as the music was wonderful.
A) 
On the contrary  
B) 
Nevertheless              
C) 
Moreover                
D) 
As if                     
E) 
Therefore

18- 
The weather was great, our hotel was fabulous and the beaches were like heaven. ......., we had a wonderful holiday.
A) 
Meanwhile         
B) 
Otherwise                  C) 
However          
D) 
In short                 E) 
By the way 

19- 
I ...... along the street the other day when I bumped into an old school friend who I ...... for ages.
A)
had walked/wouldn't see     

B) 
have walked/won't have seen 

C) 
was walking/hadn't seen                   

D) 
walked/haven't seen              

E) 
have been walking/couldn't see

20- 
We ....... my aunt's family at the weekend, but unfortunately our car ....... down, so we can't.
A) 
were visiting/breaks                     

B) 
are visiting/had broken           

C) 
have visited/broke                                                  D) 
were going to visit/has broken     

E) 
visit/will have broken

21- 
By next weekend, they ....... into their new flat, and then, I imagine, they ....... much more settled.
A) 
will have moved/will be feeling    

B) 
have moved/will have felt       

C) 
are moving/have been feeling            

D) 
moved/had been feeling                 

E) 
are going to move/feel

22- 
The computer ....... for the past two hours, so very little work ...... .
A) 
wasn't working/is being done        

B) 
hasn't been working/has been done     

C) 
doesn't work/will be done                                     D) 
didn't work/has been doing            

E) 
isn't working/can be done

23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
Lawyer trying to get tickets to a Broadway

show finally settled for (21)..........of seats a

year (22)...........When the exciting first night

arrived and he sat down in his seat, a woman in front of the lawyer noticed the empty seat

next to him and asked why (23).......valuable

commodity was going unused. The lawyer -replied that his wife couldn't make it. The

woman asked him if he (24)..........relatives

or friends who (25)..........the seat. He

replied, "Oh, they're all at the funeral of my wife."

23.

A) 
all 
B) 
a few
C) 
much
D) 
several 
E) 
a couple

24.

A) 
in progress            
B) 
for short

C) 
under control        
D) 
up to now 
E) 
in advance
25.

A) 
too few 
B) 
enough
C) 
so little
D) 
such a

E) 
just as

26.

A) 
didn't have       
B) 
wasn't having

C)
won't have        
D) 
hadn't had

E) 
isn't having

27.

A) 
had used

B) 
could have used

C) 
will have used

D) 
will be using

E) 
must have used
28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
Three men - a doctor, an accountant, and a lawyer - are dead and they appear in front of St. Peter at the gates of Heaven. St. Peter tells them that they have to answer just a single question (26)..........get to Heaven. He looks at the doctor and asks, "(27)..........was a movie that was made about a ship that sank after hitting an iceberg; what was its name?" The doctor answers, "Titanic" and he is sent through. St. Peter then looks at the

accountant and says, "(28)..........people died

in that ship?" (29).........., the accountant had

just watched the movie, and he answers, "1,500!". St. Peter sends him through and then finally turns to the lawyer and commands, in a very heavy voice, "Name (30)..........!"

28.

A) 
in addition to         
B) 
as opposed to 
C) 
so as to                
D) 
with the aim of

E) 
in light of

29.

A) 
How             
B) 
The one

C) 
Where               
D) 
How far

E) 
There

30.

A) 
What else      
B) 
How many

C) 
How long             D) 
What time

E) 
Whenever

31.
A) 
Eventually             
B) 
Frequently

C) 
Shamefully            
D) 
Fortunately

E) 
Accurately

32.

A) 
them 
B) 
him 
C) 
theirs

D) 
himself

E) 
itself

33-42. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz.
33- 
Though Paul was fired from his job without notice, ..... .
A) 
it didn't really seem to come as much of a surprise to him 
B) 
few people think that he is going to lose his job there
C) 
he will be allowed to keep his job, and get a pay rise, too
D) 
his wife is afraid that he's going to be unemployed soon
E) 
he's actually been told about it by his boss several times

34- 
......; therefore, divers must come to the surface slowly to avoid this.
A) 
Ascending from deep water rapidly causes nitrogen bubbles to form in the blood

B) 
There have been quite a few shark attacks around here lately

C) 
It was quite possible for oxygen tanks not to function properly during dives in very deep water

D) 
At a depth of one hundred metres, it becomes hard to see what you are doing

E) 
More experienced divers understand the way scuba equipment works

35- 
In the 1960s, Japan was the source of numerous cheaply made plastic goods; .... 
A) 
so items stamped 'Made in Japan' sold for high prices in shops and markets

B) 
while the Chinese manufactured inferior products that sold for low prices

C) 
nowadays, however, it is known for producing high- technology equipment 

D) 
thus, Toyota, Pentax and Sony have become major international brands

E) 
yet the country had been conquered by the Allies in the Second World War

36- 
......, which isn't really a bear but a member of the same family of mammals as kangaroos.
A)
The symbol of the World Wildlife Fund is the panda bear 

B) 
The koala bear's diet consists solely of eucalyptus tree leaves

C) 
The platypus has a duck's bill, an otter's body and lays eggs

D) 
Kodiak Island, Alaska, is home to the world's largest bears

E) 
Australia is famous for its strange animals, such as kangaroos
37- 
......, I suspect I will have been dead for at least a century.
A) 
While my great-grandfather lived to be well over 100


B) 
By the time people start living on the surface of the moon 

C) 
The next total solar eclipse in Britain will occur in 2092

D) 
Doctors claim medicine may soon double the human lifespan

E) 
As I find it difficult to plan ahead as far as my retirement

38- 
The forecast is calling for heavy rain and low temperatures, ..... .
A) 
since they seem to be wrong most of the time anyway

B) 
since next weekend is the end of our summer holiday

C) 
so perhaps we'd better cancel our plans for a picnic 

D) 
whereas I hadn't been too concerned about the weather

E) 
even though it may prove useful for farmers

39-
.........there have been serious protests by local residents.

A) 
Because everyone will benefit from a project both economical and environmentally friendly


B) 
Since many people's, homes, will be flooded by the new dam project

C)   
Although the project will leave large numbers of people homeless

D)  
Assuming that no one would object to a project that should stimulate the local economy

E)   
The more everyone realises the benefits of the project

40- 
She wishes her father had lived long enough ........

A)  
and she has been feeling terribly lonely ever since

B)   
despite the illness he has been suffering from for the last two years

C)   
than her uncle, who caused her lots of problems in the company

D)   
that he would be proud of his daughter's achievements

E)   
to see that she had managed to save the company from going bankrupt

41- 
As the enemy began to break through the defensive positions..........

A) 
it became more and more obvious that we would have to retreat

B)   
the newly recruited soldiers have been in great panic

C)   
our officers should have known that this would happen

D) 
none of us know if we will ever be able to see our homes again

E)   
obviously, much to the surprise of our commanding officer

42- The more I learn about her, ……………….

A)   
I think I like her a lot less than before

B)  
it turns out that she is not as nice a person as I had thought

C)     the less she wanted to many me

D)   
I feel sorry for the poor man who married her

E)  
the happier I am that she turned down my proposal of marriage

43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43. 
That depends on the technology's


development rate. So, it's not likely to 


figure out whether it'll be so or not.

A)  
Will the search for AIDS' cure take a long Time?

B)   
Do scientists have studies on the epidemics?.

C)  
How can we shorten the duration for AIDS' treatment?

D)  
When precisely did the infectious diseases break out?

E)  
What are the determiners for an end to cure an illness?

44.
No one. But, as far as I know, Mrs. Robson is a bit interested in that position.

A)  
Who will be the nominee for the vacancy in the directorate?

B)   
Is he eager to take part in the project?

C)  
Has anyone decided on what they will do?

D)  
Who must have caused the mess in my room?

E)   
How can anyone learn whether the lesson is carried out properly?

45.
Well, I don’t believe so. Little Richard is more than 70.

A)   
How long has it been since you were introduced to Little Richard?

B)   
How do you express your feelings through the rhythm?

C)  
is there any other way to cope with the aging?

D)   
Has your style in music ever been exposed to revolutionary changes?

E)   
Do you ever get too old for rock and roll type of music?

46.
I believe that they like Americans more than they like the French. Definitely.

A)   
What makes the other people take a stand against the Americans?

B)   
How do you think the French feel about the Americans?

C)  
What is the terminology for the enmity be​tween America and France?

D)  
Has there been any time when the French and the Americans didn't get along well?

E)  
Which things have influences on foreign affairs among societies? 
47-50. sorularda, verilen İngilizce cümlenin 

Türkçe dengini bulunuz.
47- 
Holland largely lacks the resources necessary for industry, but the few that exist are found in significant amounts. 
A) 
Hollanda, endüstri için gerekli kaynaklardan büyük ölçüde yoksundur ancak var olan birkaç tanesi önemli miktarlarda bulunmaktadır.

B) 
Çok sayıda kaynağa sahip olan Hollanda, bunlardan, endüstrisi için gerekli olan birkaç tanesine büyük önem vermektedir.

C) 
Endüstri için gerekli birkaç önemli kaynağa büyük miktarlarda sahipse de, Hollanda'da pek fazla kaynak bulunmamaktadır.

D) 
Hollanda'nın sahip olduğu kaynaklardan sadece birkaç tanesi endüstrisi için gereklidir ama bunlara da önemli miktarlarda sahiptir.

E) 
Hollanda, endüstrisinde büyük bir yer tutan birkaç kaynak dışında, önemli miktarlarda kaynağa sahip değildir.

48- 
When land is stripped of its plant cover, it's inevitable that soil will be lost through erosion.
A) 
Bitki örtüsü yok edilmiş arazide toprağın erozyonla yok olması beklenen bir sonuçtur. 

B) 
Toprak erozyonunun başlıca nedeni, arazinin bitki örtüsünün yok edilmesidir.

C) 
Arazinin bitki örtüsünden yoksun bırakılmasının kaçınılmaz sonucu, toprak erozyonudur.

D) 
Arazinin bitki örtüsü yok edildiği zaman, toprağın erozyonla yok olması kaçınılmazdır. 

E) 
Bitki örtüsünün bulunmadığı bir arazide, kaçınılmaz olarak toprak, erozyonla yok olacaktır.

49- 
Many animals live in caves, especially in those which have an underground river or large pool.
A) 
İçinde yeraltı nehri ya da büyük bir su birikintisinin bulunduğu mağaralarda pek çok hayvan barınmaktadır.

B) 
Hayvanların barındığı mağaralar genellikle, içinde yeraltı nehri ya da büyük bir su birikintisi bulunanlardır.

C) 
Nerede içinde yeraltı nehri ya da büyük bir su birikintisi olan bir mağara varsa, mutlaka orada çok sayıda hayvan yaşıyordur.

D) 
Mağaralar, özellikle de içinde yeraltı nehri ya da büyük bir su birikintisi bulunanlar, pek çok hayvan için sığınak oluşturur.
E) 
Pek çok hayvan mağaralarda, özellikle de yeraltı nehri ya da büyük bir su birikintisi bulunanlarda yaşar.

50- 
The most striking feature of camels is the large hump on their backs.
A)
Sırtlarındaki kocaman hörgüçleri develere, ayırt edici bir özellik kazandırmaktadır.

B) 
Develerin en çarpıcı özelliği, sırtlarındaki kocaman hörgüçleridir.

C) 
Sırtlarında taşıdıkları hörgüçleri, develerin hemen dikkati çeken bir özelliğidir.

D) 
Develer en çok, sırtlarında taşıdıkları kocaman hörgüçleriyle tanınırlar.

E) 
Develerin ayırt edici bir özelliği de, sırtlarındaki kocaman hörgüçleridir. 

51-54. sorularda, verilen Türkçe cümlenin
İngilizce dengini bulunuz.
51- 
Almanya'nın, Baltık ve Kuzey denizlerini birbirine bağlayan Kiel Kanalı, gemileri, Danimarka'nın etrafını dolaşan uzun bir yolculuktan kurtarmaktadır.
A) 
The long journey around Denmark can be avoided by using Germany's Kiel Canal, which joins the Baltic Sea to the North Sea.

B) 
The Kiel Canal in Germany saves ships the long journey around Denmark because it connects the Baltic Sea with the North Sea.
C) 
Connecting the Baltic and North seas, the Kiel Canal in Germany was built to save ships the long journey around Denmark.
D) 
Ships can avoid a long journey around Denmark if they sail through Germany's Kiel Canal, which connects the Baltic and North seas.
E) 
The Kiel Canal in Germany, connecting the Baltic and the North seas, saves ships a long journey around Denmark. 

52- 
Halk edebiyatındaki tüm canavarların içinde ejderha, en çok bilinen ve korkulanıdır.
A) 
Feared throughout history as a fierce monster, the dragon is a popular character in folk literature.
B) 
The dragon is a familiar character in folk stories, in which it is normally a feared monster.
C) 
The dragon may be the most feared of all monsters in folk literature, but it is also the most familiar.

D) 
Of all the monsters in folk literature, the dragon is the most familiar and the most feared. 
E) 
Traditional folk literature tells how people feared the familiar dragon most of all monsters.

53- 
Kamuoyu yoklamalarını yapan şirketler dahil, herkes seçim sonuçları konusunda yanıldı.
A) 
The results of the elections were counter to all the predictions, even those of companies which carry out opinion polls. 
B) 
Everybody, including the companies which had carried out the opinion polls, was mistaken about the results of the elections. 
C) 
Nobody, not even the companies which carry out opinion polls, predicted the correct outcome of the elections.
D) 
The results of the elections came as a surprise to everyone, including the companies which had carried out the opinion polls.
E) 
Everyone, except the researchers who had carried out the opinion polls, was wrong about the results of the elections.

54- 
Bu kumaşın benim istediğim model için uygun olduğu konusunda biraz kuşkuluyum.
A) 
I'm a little doubtful about the suitability of this material for the style I want.
B) 
I have some doubts about whether this material is suitable for the style I want.
C) 
Without a doubt, this material will be suitable for the style I want.
D) 
There are some doubts as to whether my material is suitable for the style I want.
E) 
This material could undoubtedly be used to make the style I want, but it isn't the most suitable.

55-57. soruları, aşağıdaki parçaya göre 
cevaplayınız.
From their homes on Columbia's highest mountain, the Kogi Indians look down on 'their little brothers' - the rest of mankind. The Kogis are the oldest intact tribe in Columbia, according to local experts. They survived a 100-year war with the Spanish, which ended in 1625, by retreating higher into their mountain stronghold than the Spanish were prepared to go. But in avoiding the slavery defeat would have brought, they abandoned their rich cities to live close to the snows of the Sierra Nevada de Santa Marta, a range rising to nearly 5,500 metres. Apart from the Spanish chronicles of the long war, in which the invaders expressed their admiration of the Indians' fierce defence of their mountain cities, and wonder at their level of civilisation, there was no evidence left of these lost cities. 

55- 
As we learn from the passage, local experts believe that ..... .
A) 
the Kogis have the longest continuous history of any tribe in Columbia 
B) 
no other Indian tribe in Columbia is as big as the Kogis are
C) 
the Kogis of Columbia are the oldest group of people in the world
D) 
the Kogis live longer than any other native people in Columbia
E) 
the Kogis live so long because of the mountains they inhabit

56- 
The author tells us that in their war with the Spanish, the Kogis ...... .
A) 
made their slaves fight against the invaders
B) 
were inferior both in the quantity and quality of arms
C) 
were better equipped for fighting in the snow
D) 
lost, though they were actually better prepared
E) 
survived by eventually fleeing from them 

57- 
It can be inferred from the passage that the Kogis' rich cities ..... .
A) 
were relocated to secret mountain locations
B) 
are now inhabited solely by Spanish people
C) 
were superior to European cities in the 17th century
D) 
have not been seen by anyone who is alive today 
E) 
are the oldest cities in the country of Columbia

58-60. soruları, aşağıdaki parçaya göre 
cevaplayınız.
Ada Lovelace, daughter of the poet Lord Byron, was born in 1815 and died at the age of 36. In her short lifetime, she witnessed an era of social and technological change that, in speed and intensity, matches our own. She was connected to some of the most influential characters of the industrial age, including Charles Babbage, the inventor of a mechanical device which later developed into the electronic computer. Ada wrote, at Babbage's invitation, an important paper in which she explained how it worked. In it she included a list of the sort of instructions that could be fed into it - a computer programme, in other words. It was this work that led to her being credited with the invention of computer programming, and to her name being adopted for the programming language that now controls the US military machine. 

58- It is suggested in the passage that ..... .
A) 
Lord Byron's poetry explored the great social changes of the 1800s
B) 
life in the first half of the 19th century was evolving as quickly as it is today
C) 
no one contributed as much to Victorian technology as Byron's daughter
D) 
changes in lifestyle in the early 19th century were too fast for many people
E) 
technology and society have both been changing rapidly for over 150 years

59- 
It's clear from the passage that Babbage's machine ..... .
A) 
was so complex that only Lovelace could understand it
B) 
was the forerunner of the modern computer
C) 
could only be used by Lovelace for a long time
D) 
came from ideas he found in a paper written by Ada Lovelace 
E) 
differed from today's computers in that it needed paper for fuel

60- 
We can conclude from the passage that the US military ..... .
A) 
still relies on Ms Lovelace's computer programmes in its own computers
B) 
considers Ms Lovelace's method of programming computers to be the best
C) 
uses a computer language that may be called Ada, Lovelace or Ada Lovelace 
D) 
is the only group that considers Byron's daughter the inventor of programming
E) 
employed Ada Lovelace when it first started using computer programmes

61-63. soruları, aşağıdaki parçaya göre 
cevaplayınız.
Tinnitus - the buzzing in the head which doctors thought would decrease with the decline of heavy industry - is on the increase. No one should be surprised. Personal stereos, new sound systems in clubs and new stereo systems in cinemas have replaced the threat to hearing which industrial machines posed in the past. Factories where the noise level exceeds 85 decibels are now required to provide their workers with earplugs. Club owners, who allow their DJs to far exceed this level, are under no similar obligation. Yet any noise above 85 decibels can lead to serious hearing loss. Cinemas often violate the recommended noise level of 82 decibels for feature films. For example, in Armageddon, Lethal Weapon 4 and Godzilla, the sound level, at times, exceeds 100 decibels.

61- 
We understand from the passage that doctors ..... .
A) 
think that today's hearing problems are caused by industry
B) 
were far from correct with their predictions about tinnitus

C) 
feel that people just shouldn't own or use personal stereos
D) 
have shocked many people with their ideas concerning tinnitus
E) 
fear the danger of tinnitus may threaten the music industry

62- 
The passage seems to be suggesting that, with regard to noise levels, ..... .
A) 
earplugs alone are not enough to protect workers
B) 
regulations need to apply to more than just factories 
C) 
clubs and cinemas are not as loud as factories 
D) 
DJs should not be held responsible for doing their jobs
E) 
cinemas are more hazardous than clubs or factories

63- 
The author of the passage warns cinema-goers that ..... .
A) 
they are certain to lose their hearing if they watch Armageddon
B) 
they will lose their hearing unless they start using earplugs
C) 
as far as films are concerned, the danger level is 100 decibels
D) 
simply avoiding loud films is not enough to protect themselves from danger
E) 
the volume on films is often turned up dangerously high at cinemas

64-66. soruları, aşağıdaki parçaya göre 
cevaplayınız.
For two decades the Western was one of the most popular forms of television entertainment in America. Perhaps it was because the Western could make a claim that was not quite true for any other form of television series airing at the time: the Western was truly American. It provided not only family entertainment, but also an insight into American history. In the 1950s more than twenty-five Western series were launched by the networks, and the same was true in the 1960s. However, since then new Western series have not been as successful. There are a few reasons for this, and one may have been oversaturation; that is, America might have grown tired of the Western after so many series had been produced.

64- 
In the author's opinion, the thing that was unique about the Western during the fifties and sixties was that ...... .
A) 
the stories were totally fictional and not in any way documentary or based on fact
B) 
these were the only series at the time in which the actors spoke with American accents 
C) 
they were very popular for two decades - much longer than any other type of series 
D) 
the background to the stories provided the viewers with a glimpse into their own past 
E) 
they were the only series at that time which were made by Americans for Americans

65- 
It is clear from the passage that over two decades, ..... .
A) 
Western series became popular worldwide
B) 
the quality of Westerns increased progressively 
C) 
more than 50 new Westerns were shown on TV
D) 
Westerns moved from the TV screen to the cinema 
E) 
watching Western series was the only entertainment Americans had

66- 
The writer suggests that one reason why Western series are less popular now could be that ...... .
A) 
the series are very long and people don't have time to watch them 
B) 
nowadays they don't make Westerns as well as they used to 
C) 
the networks have not been as interested in producing them as they were 
D) 
the viewing public aren't as interested in the past as they once were
E) 
the public saw too many of them during the fifties and sixties 
67-69. soruları, aşağıdaki parçaya göre 
cevaplayınız.
To say that the whole of humanity lives its life by what the media say and do is an exaggeration. Even when such events as the opening of the Olympic games can draw television audiences of up to two billion, this still represents only one-third of the world's population. Other large events, such as World Cups, wars, and marriages of famous people, are widely broadcast on television but are watched by barely ten percent of the human race. These are huge numbers of people, but billions of people have no contact with the media. In many parts of Africa, television, radio and even newspapers are non-existent. Also, in parts of Asia, such as Siberia, there are TV transmitters, but few people have sets to be able to receive the programmes. 

67- 
The main purpose of the passage is ..... .
A) 
to show that the actual influence of the media is less than generally believed 
B) 
to tell us that the most popular of all TV events is the opening of the Olympics
C) 
to illustrate the problems caused by an overall shortage of television sets
D) 
to demonstrate the great power the media have over the world's population
E) 
to make it clear that not all television programmes actually have audiences

68- 
It can be determined from the passage that ..... .
A) 
football championships are more popular than wars with TV viewers 

B) 
hardly anyone in Africa is capable of reading a newspaper article
C) 
despite its apparently great popularity, most people don't care about war
D) 
most very important media events are unseen by nine in ten people 
E) 
television producers underestimate the popularity of many media events

69- 
The writer tells us that many people in Siberia ..... .
A) 
are unable to see TV programmes since there are none broadcast there
B) 
do not even have local television stations 
C) 
are not allowed to watch the television programmes which are available
D) 
lack TV transmitters to allow them to receive the programmes
E) 
cannot watch the programmes broadcast there as they have no televisions
70-72. soruları, aşağıdaki parçaya göre 
cevaplayınız.

Alchemy is an ancient science studied in many parts of the world. It is a vast subject, concerned not just with the study of known natural substances, such as salt, mercury and sulphur, but with theology, mysticism and the secrets of human life and destiny. In this latter respect, it shares many of the ideas and basic beliefs of astrology. European alchemists were much concerned with their futile search for a mysterious substance called the Philosopher's Stone. With it, they hoped to change 'base' metals into gold - something that would dramatically prolong life and health. Their theories and practices began to be discredited in the 17th century with the foundation of chemistry. However, some people still study alchemy because of its attempt to link the natural world with spiritual ideas.


70- The author explains that alchemy ...... .
A) 
started as a proper science, but later became mixed up with mysticism
B) 
originally came about as a branch of an older science known as astrology
C) 
contributed absolutely nothing to mankind's overall understanding of nature
D) 
was concerned with a greater array of subjects than modern chemistry is 
E) 
discouraged interest in the actual substances that make up the real world


71-
It can be inferred from the passage that 
European alchemists ..... .
A) 
knew how to change a number of different metals into gold
B) 
had actually discovered the secrets of living to a great age
C) 
gradually changed the focus of their work to practical science
D) 
never actually found the Philosopher's Stone that they sought 
E) 
were generally quite rich and lived relatively long and healthy lives

72-
We learn that the continuing study of alchemy ...... .
A) 
demonstrates that part of the population is still unscientific and basically ignorant 
B) 
makes some people think that the discoveries of modern chemists are worthless
C) 
comes about from the desire to see the relationship between spirituality and nature 
D) 
became impossible with the rise of a real science, chemistry, about 300 years ago
E) 
is done by scientists who doubt the validity of their own theories and experiments
73-75. soruları, aşağıdaki parçaya göre 

cevaplayınız.

Bees are a very large group of insects found in warm regions. Most species of bees are social insects, like ants, which means they lead highly organised lives in nests, or colonies, where tens of thousands of them can be found together. Also, like ants, queen bees mate in flight and then create new colonies. In a colony, there are male bees called drones, which have no stings to harm humans with, and whose job is to fertilise the queen. The female 'worker' bees are the ones who fly from flower to flower, gathering nectar, which aids the fertilisation of the flowers themselves and provides the bees with food and the material for construction of honeycombs. It is in these that the eggs laid by the queen are cared for until they finally emerge as new adult bees.

73- It is clear from the passage that ...... .
A) 
it is highly unlikely to find a bee in the arctic regions of the Earth 
B) 
ants and bees often compete for the same homes and food sources
C) 
all bees live in very large groups, and lead very social lives
D) 
little is known about exactly what goes on in the social lives of bees
E) 
at times, bees and ants have been known to live together in colonies


74- 
According to the information in the 

passage, male bees ..... .
A) 
are responsible for fertilising the flowers which the bees need for food
B) 
pose no threat to human beings as they lack the means to harm them 
C) 
must take care of the queen and see that she has enough food to eat
D) 
seem to serve no useful purpose whatsoever in the life of the bee colony
E) 
sometimes assist the females in their role of gathering food for the nest


75- 
We are informed in the passage that 

honeycombs ..... .
A) 
are built by drones for the queen bee to have a safe place to live in
B) 
are eaten by the young bees so they can grow up to be either workers or drones
C) 
can be found in flowers after the worker bees have taken nectar from them
D) 
need to be taken care of by the drones if new bees are to survive to adulthood
E) 
are made from materials which are gathered from flowers by the worker bees
76-80. sorularda, verilen cümleye anlamca
en yakın olan seçeneği bulunuz.
76- 
While the number of novels published is increasing, the amount of quality literature written is decreasing.
A) 
Besides the great rise in the quantity of publication, the overall quality of writing is also on the increase.
B) 
Instead of producing a few good books, today's writers seem content to produce a lot of badly written novels.
C) 
Though there are more books printed today than there were in the past, fewer of them seem to be well-written.
D) 
It is not surprising that there are so few good books nowadays, as writers are coming out with too many for them to be so.
E) 
The sheer quantity of books being written around now guarantees that some of them will be considered to be valuable.
77- 
Religious freedom is one of the basic rights in America, yet there has never been a non-Christian president there.
A) 
In order to become the president of the United States, you are required by law to be a member of a recognised church.

B) 
American presidents are free to believe whatever they like as long as they are one type of Christian or another.

C) 
Though people can practise whatever religion they like in the US, no one other than a Christian has ever been elected president. 
D) 
Every one of the USA's presidents has been a Christian; and as most of the people are Christian, this is the way it should be.
E) 
Basically, you can follow any religion you want in America, but to become the president, you have to be a Christian.
78- 
In spite of the extensive publicity for the event, attendance figures were disappointing.
A) 
Fewer people than anticipated attended the event, although it had been well-advertised. 
B) 
While the event had had a lot of publicity, those who attended it were disappointed.
C) 
If the event had been advertised, people attending it wouldn't have been as dissatisfied.
D) 
Because the event received so much publicity, many people were unable to get tickets.
E) 
There would have been more people at the event if it had been more widely publicised. 

79-
Just which one of the two witnesses is 

telling the truth about the situation is 

unclear.
A) 
People believe that both of the two witnesses could, in fact, be lying.
B) 
Both witnesses are telling the same account of the event, which, some believe, is not true.
C) 
It is likely that neither witness is giving us a truthful account of the situation.
D) 
From the two witnesses, it is uncertain whose account of the event is truthful. 
E) 
It is hard to tell whether the two witnesses are telling the truth or lying.

80- 
Switzerland has a long history of 

neutrality on account of being isolated 

from the rest of Europe by the Alps.
A) 
Switzerland, which is traditionally neutral, has little or no relations with the European countries on the other side of the Alps.
B) 
Switzerland's long tradition of neutrality exists because the Alps isolate the country from the others in Europe.
C) 
Switzerland has been a neutral country for many years, yet, because of the Alps, it is not really part of Europe anyway.
D) 
As well as isolating Switzerland from the other European countries, the Alps have historically been a neutral area.
E) 
Since the Alps protect Switzerland from being invaded, the country has had few wars in its history with the others in Europe. 

81-85. sorularda, parçada boş bırakılan yere uygun düşen ifadeyi bulunuz.

81- 
........ . We are inclined to think he knows 
our language quite well if he does not make many mistakes. It does not usually occur to us that he may be avoiding taking risks and confining himself to doing only what he knows he can do correctly.
A)
Few non-native speakers ever really seem to understand English to any satisfactory degree
B) 
Carlos studied English for several years and became able to speak the language flawlessly
C) 
Hans is expecting to speak nearly perfect English by the time he finishes his upper-intermediate course
D) 
We judge a foreigner's knowledge of a language by the number and sort of mistakes he makes
E) 
People make mistakes when speaking not only foreign languages, but also their mother tongues

82- 
While trying to put up a shelf, my brother once drilled through an electric cable, sending out sparks that set fire to the curtains. This made him more safety conscious. Next time, when he decided to put some speakers on the walls, he turned off the electricity. ....... . Having failed to find anything wrong with it, he tried to put it back together again, but failed, so he went out and bought another electric drill. 
A) 
Unable to understand why his electric drill had stopped working, he opened it up to see the fault 
B) 
He could still listen to music because he had a battery- powered walkman

C) 
He was very fond of listening to his music very loud
D) 
He was about to take that one to a repairman when his wife arrived and reminded him that he had turned off the electricity
E) 
His electric drill worked fine until it caused a short circuit and blew a fuse

83- 
The Ganges, India's principal river, flows 1,560 miles from the Himalayas in the north to the Bay of Bengal. It directly serves about 225 million people. The Indians call it the Gangaji - the suffix ji indicates reverence - and Mother Ganges. ........ . Many, in fact, have died because of bathing in its sewage-polluted waters.
A) 
A wide flood-plain has built up over the centuries providing India with a rich agricultural belt
B) 
Due to the religious significance of the river, many shrines have been erected on its banks
C) 
Hindus consider it a sacred river and travel many miles to bathe in or die beside its waters 
D) 
The Ganges begins at the junction of two glacier-fed streams 13,000 feet up in the Himalayas
E) 
The 250-mile-wide Ganges delta is the largest in the world, covering 30,000 square miles

84- 
Cosmic rays are radiation particles that reach the Earth from outer space. Such types of radiation were unknown before 1910, when the American scientist Millikan started working in aeroplanes, on mountain tops and in balloons in 1923. ........ . The former consists of electrons. The latter consists of mesons, which are heavier and more penetrating than any known radiation from earthly sources.
A) 
The emission is continuous, and every minute one ray passes through every square centimetre
B) 
There are two known forms of cosmic radiation, known as showers and penetrating radiation
C) 
Both forms are believed to be created by still other particles that come into the atmosphere
D) 
Astronomers think they come from space while geologists insist they are formed on the Earth
E) 
The true nature of these rays, which come in two types, still confuses the scientific community 

85- 
...... . The nation's very independence was a matter of debate until some nervous, nameless farmer fired the first shot in Concord, Massachusetts. 'Old Betsy,' Davy Crockett's rifle, was as famous as its owner in the Battle of the Alamo. Guns tamed the Wild West, and in another generation, automatic weapons made the Twenties roar. When the crew of Apollo 11 touched down on the moon, they were armed - just in case.
A) 
Despite numerous claims to the contrary, Americans have never been a combative people
B) 
As guns have made their mark on history, they have crept into our common speech
C) 
Regardless of the role that firearms play in modern fiction, writers often know little about them
D) 
A Chinese political leader suggested that political power grows from the barrel of a gun
E) 
From colonial times to the space age, firearms have been an integral part of American culture 

86-90. sorularda, verilen duruma uygun düşen
ifadeyi bulunuz.
86- 
One of your friends is constantly complaining about her life. As far as you can see, she has a wonderful family, a good job, an active social life and is really altogether rather lucky. You're getting tired of listening to her complaints, so the next time it happens, you say unsympathetically:
A) 
I wish you'd stop this. You just don't realise how fortunate you are. 
B) 
Why don't we go out and have a meal together to cheer you up?
C) 
If only there was something I could say or do to make you feel better.
D) 
Perhaps if you try talking about it, life might seem less stressful.
E) 
If I wasn't so tired, I would be more helpful to you in this situation.

87-
Your elderly neighbour is rather deaf and 
is in the habit of listening to his television at full volume. You usually put up with it because he's old and you like him, but you're trying to study tonight and it's driving you crazy. You have to do something about it, so you knock on his door and say respectfully:
A) 
The level of sound coming from your television is totally unacceptable. 


B) 
I'm sorry to trouble you, but would you mind turning your TV down a bit?

C) 
I wonder if you realise just how thin the walls are between your flat and mine.

D) 
I know you're deaf, but do you have to have the volume turned up so high?

E) 
I wonder how you would like it if I listened to Metallica at that volume.

88- 
One of your colleagues is absolutely furious with a junior at work who made a rather foolish mistake. You are with your colleague as he waits for Bill, the junior, to come to his office. You know that Bill is very upset and worried about what has happened, so before he comes in, you say protectively:
A) 
I hope you're going to teach Bill a lesson so that he won't do it again. 

B) 
I can't understand how Bill could have made such an idiotic mistake.

C) 
Don't be too hard on Bill. You know, we all make mistakes at times. 

D) 
Don't worry, I feel just as annoyed about this whole matter as you do.

E) 
I wonder what excuse Bill will give us for his carelessness this time. 

89- 
One of your friends is helping you paint your living room. Unfortunately, he drops a can of paint onto a rug and ruins it. Your friend is very apologetic and is clearly very embarrassed. Not wanting him to feel bad after all the help he's given you, you say forgivingly:
A) 
The rug wasn't very expensive, so it won't cost you too much to replace.
B) 
It was just an accident Ñ these things happen. Please don't blame yourself.

C) 
If you were a bit less clumsy, this accident would never have happened. 

D) 
It's my fault. I shouldn't have asked someone like you to help me with this.

E) 
My mother is going to kill me. How on earth am I going to explain this to her?

90- 
An elderly neighbour has just been into hospital for a serious operation. He's now back in his flat, but he's in a wheelchair. You go across to welcome him home and cheer him up. Knowing that he enjoys a joke, you say lightly:
A) 
I hope you're feeling better now and that you'll be able to cope now you're home.

B) 
Welcome home. If there's anything you need, please call me and I'll come over. 

C) 
We were all very worried about you, you know. That operation is rather serious. 

D) 
Get well soon, and don't try to do too much until you're feeling a bit stronger.

E) 
It's good to have you back, Mr Benton. I hope you've got a licence for that chair. 

91-95. sorularda, karşılıklı konuşmanın boş 
bırakılan bölümünde söylenmiş olabilecek
sözü bulunuz.

91- 
Karl
: I had a terrible sleep last night. 

Max
: Really, what happened? 


Karl
: ...............

Max
: Oh, that's the sound of lorries 



coming off the motorway. You'll 



get used to it.
A) 
I kept hearing this horrible loud banging sound. 
B) 
Your cat jumped on my head around two o'clock.
C) 
I don't know. I guess it's being in a strange bed.
D) 
Nothing. I think it's just the time difference.
E) 
I thought I heard someone walking round the flat.

92- 
Maria
: ...............

Delia
: To be completely honest, no, it 



doesn't, not at all.

Maria
: What about this sweater? How does this work?

Delia
: Hmmm. Yes, it's perfect. You look wonderful.

A) 
need your advice. Do you think this 

jacket goes with this skirt? 

B) 
Thank you very much for the birthday 


present. I really love it.

C) 
If you were me, would you wear a skirt or a dress today?

D) 
I can't find my blue sweater. Do you have it by any chance?

E) 
Could you possibly lend me that lovely yellow jacket of yours?
93- 
Dawn
: It's 7.30pm already. I'll just have a 



quick shower and then I'd better 


leave for work.
Mary
: ..........
Dawn
: On the contrary, I really enjoy 


having the days to myself.
Mary
: Well, I'm really glad I'm not a 


nurse.

A) 
Are you enjoying your new career as a nurse? 
B) 
Perhaps we should go out together tomorrow.
C) 
Don't you just hate being on the night shift? 
D) 
Do you think nursing is the right job for you?
E) 
Why don't you call in sick and go out instead? 


94- 
Assistant: Do they fit?

Patrick
: Actually, they're a bit small. Have 



you got a bigger size?



Assistant: ........

Patrick
: Oh well, I'll leave them then.
A) 
I usually take a large myself, but you're smaller than me. 
B) 
Yes, certainly Sir. I've got a larger one right here.
C) 
Actually, it looks pretty good on you, in my opinion.
D) 
I'm afraid that's the last pair we've got in that style. 
E) 
No, I'm very sorry. It doesn't come in extra large. 

95- 
Moira
: .........

Jane
: No, I didn't. That's wonderful! 



When does it start?



Moira
: I believe it opens in about four 



weeks.

Jane
: I must call and congratulate him.
A) 
Do you know that John has got the lead role in the new David Hare play? 
B) 
I wonder if anyone's told you that Mike has just bought a new business.
C) 
Have you received your invitation to Ray and Barbara's wedding yet? 
D) 
Did Harry tell you that one of his paintings is to be displayed in the exhibition? 
E) 
I suppose you've heard that there's a new Chinese restaurant opening here.

96-100. sorularda, anlam bakımından hangi 

cümlenin parçaya uymadığını bulunuz.
96- 
(I) The earliest lighthouses were apparently built by the ancient Egyptians to guide ships in and out of the Nile. (II) The light to guide the ships was supplied by wood burned in an open fire. (III) Since then, coal, gas, acetylene and electricity have been used. (IV) One such example of an early Egyptian lighthouse is the Pharos at Alexandria. (V) This is regarded as one of the Seven Wonders of the ancient World. 

A) I         B) II         C) III         D) IV          E) V

97- 
(I) Sunstroke is a condition caused by direct exposure to the sun, especially on the head. (II) Its symptoms are pain in the head, dizziness, nausea, dryness of the mouth and skin, a rapid pulse and a temperature of 107 to 110. (III) Unconsciousness generally follows. (IV) This should not be confused with ordinary cases of sunburn, which causes damage to the skin. (V) And, unfortunately, twenty-five percent of cases end fatally.

A) I         B) II         C) III         D) IV          E) V

98- 
(I) After their use in World War I, tanks evolved into the most important land weapons of World War II. (II) The tank is an armoured vehicle which is powered by an internal combustion engine. (III) It is armed with machine guns and artillery and moves on metal caterpillar treads. (IV) The name "tank" has an interesting origin. (V) During World War I, the British, to keep their new weapon a secret, shipped the first tanks to France in crates labelled "Water Tanks."

A) I         B) II         C) III         D) IV          E) V

99- 
(I) Usually, the shops selling the same kind of merchandise or service are grouped together. (II) To an outsider, the most colourful side of Arabian life is the bazaar, especially on market day. (III) Beneath temporary tents of matting, tables are piled with all sorts of goods: wool, cloth, reed mats, palm fibre, dates and a vast variety of fruits. (IV) Cattle, sheep and various types of tools and equipment are also bartered. (V) In fact, the bazaar displays almost everything that enters into the commercial and pastoral life of Arabia.

A) I         B) II         C) III         D) IV          E) V

100- (I) For centuries, men had striven to reach 
the North Pole, first as a means of finding a trade route to the Orient, and later as an end in itself. (II) During the 1800s, expeditions of Englishmen, Norwegians, Americans and Italians inched closer and closer to the unmarked point at 90° N latitude. (III) By the turn of the century, means of travel had improved to such an extent that feeling was high that the Pole would be reached soon. (IV) Since the validity of both men's claims is questionable, some historians propose that another man, Richard Byrd, discovered the Pole in 1926. (V) And indeed, discovery of the North Pole was claimed in 1909 - by two different explorers.

A) I         B) II         C) III         D) IV          E) V 
İNGİLİZCE GENEL DENEME SINAVI 5


1-	Cevap kağıdınızda  Yabancı dil bölümüne işaretleyiniz.


2-	Bu testte 100 soru vardır. Cevaplama süresi 150 dakikadır.


3-	Cevaplamaya istediğiniz sorudan başlayabilirsiniz.
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